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General Instructions :
The question paper comprises of two sections, A and B, you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five mark category. Only one option in such question is to be attempted.
All questions of section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.
An additional 15 minutes time has been allotted to read this question paper only. Candidates
will not write any answer on the answer sheet during this time interval.
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10.

11.

SECTION - A

Name the type of reaction represented by the following equation :

CH,CH,OH + CH,COOH [ §gjgH2504 | CH,COOCH,CH, + H,O

Draw a ray diagram to show the Angle of Deviation when a ray of light passes though
a glass prism.

Why is the depletion of ozone layer a cause of concern ?
How can we help in reducing the problem of waste disposal ? List any two ways.

(a) The atomic number has been chosen as the basis for classifying elements. Why ?

(b) By considering their positions in the Periodic Table, which one of the following
elements would you expect to have maximum metallic characteristic ?

Na, Mg, Al

A part of the Periodic Table has been shown below -

Group I II XVI XVII XVIII
Period 1
2 B D C
3 E

On the basis of above table answer the following questions -
(i)  Which element will form cation ?
(i) Which element will have the smallest atomic size ?

(iii) Which element will have chemical properties similar to Magnesium
(atomic number 12) ?

(iv) Write the common name of the group to which C and E belong.
How does the process of Seed germination take place in Plants ? Describe in brief.
How do Sexual and Asexual reproduction lead to Speciation ? Give one point for each.

Complete the diagram in your answer book and write the nature of the image formed.

ZFTF AF 2F
: 1\/ » 2

What are the causes of the following defects of vision and how can they be corrected ?
(a) Cataract (b) Presbyopia

Two lenses of power —2.5D and +1.5D are placed in contact. Find the total power of
the combination of lenses. Calculate the focal length of this combination.
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

How is the increase in demand of fossil fuels affecting the environment adversely ?
Suggest two way to minimise the problem.

The construction of large dams lead to (i) social and (ii) environmental problems. List
two problems in each case.

(@)  Which of the following compounds will undergo addition reaction ?
(b) What is hydrogenation ? State its industrial application.

(@) Name an element you would expect to show chemical reactions similar to sodium.
State the reason in support of your answer.

(b)  Write electronic configuration of the element belonging to 3" period and 13th
group of the periodic table. Predict whether it is a metal or a non - metal. Give
reason.

(a) Draw a neat diagram of Female reproductive system in human being and label
on it
(i)  the part which secretes ova
(ii) the part where implantation takes place.

(b) What happens if the fallopian tube is blocked ?

Answer the following questions -

(a) What enables Bacteria to survive better in a heat wave ?
(b) How is the stability of DNA of the species ensured ?

(c) Differentiate between Acquired and Inherited traits.

(i)  What is genetic drift ?
(i) Which type of organism will have more variation - sexually or asexually
reproducing organism ? Justify your answer.

(@) Mendel selected garden Pea plant for his experiments. List two reasons.
(b) State the meaning of recessive and dominant genes.

A 2.0 cm tall object is placed perpendicular to the principal axis of a convex lens of
focal length 10 cm. The distance of the object from the lens is 15 cm. Find the nature,
position and size of the image formed.

A convex lens forms a real and inverted image of a candle at a distance of 30 cm from
it. Where is the candle placed infront of the convex lens if the image is of the same size
as the object ? Draw a ray diagram to support your answer. Also find the Power of
the lens.

With the help of a labelled diagram explain the following :
(i)  The sun appears reddish during sun - rise.
(i) At noon the sun appears white.
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23. Answer the following questions -

(a)
(b)

24. (a)

25. (a)

(©)

Describe a chemical test to distinguish between ethanol and ethanoic acid
Give reason for the following
(i) Ethanol is used in the preparation of tincture iodine.
(i) Ethanoic acid is used in the presevation of pickles.
What is Saponification ?
OR
Draw the structure of Propanoic acid (C,H5COOH)
Why do the bottoms of cooking vessels get blackened ?
What is a Micelle ? Draw a labeled diagram of a Micelle.

List two factors responsible for the versatile nature of carbon

State two advantages of vegetative propagation. Name two plants in which it is
practised.

How does hydra reproduce ? Explain in brief with the help of a labelled diagram.
OR

Mention the role of following organs of human male reproductive system.

(i)  Testis (i) Scrotum

(iii) Vas deference (iv) Prostate glands

State the reason why testes are located outside the abdominal cavity.

State two characteristics which distinguish between real and virtual images.
The magnification produced by a mirror is +1. What does this indicate ?
What is Lateral Displacement ? State two factors on which it depends.

OR

Light enters from air into diamond which has a refractive index of 2.42. Calculate
the speed of light in diamond. The speed of light in air is 3 X 108 ms~1.

Draw ray diagrams to show the formation of virtual image in case of the following
mirror

(i) concave mirror
(i) convex mirror

How can concave mirror help in harnessing Sun’s energy ?
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SECTION - B

26. The following figures illustrate binary fission in Amoeba in an incorrect sequence.

e

(i) (ii)

The correct sequence is -
(@) (@) (i) (iv) (i) (b) (i) (iii) (iv) @)
(c) (i) (iii) (if) (i) (d) (i) (iv) (i) @)

27. Ethanoic acid was added to sodium hydrogen carbonate solution and the gas evolved
was tested with a burning splinter. The following four observations were reported :

(i)  The gas burns with the pop sound and the flame gets extinguished.
(ii) The gas does not burn but the splinter burns with a pop sound.

(iii) The flame extinguishes and the gas does not burn.

(iv) The gas burns with a blue flame and the splinter burns brightly.

The correct observation is reported in

@ @ (b)  (if) (c) (i) (d) (@)

28. A student recorded the following sets of observations during the experiment of tracing
the path of a ray of light passing through a glass slab.

S.No.| pi| Or | Oe
I 30°119°|30°
II |40°|26°|40°
II | 50°([37°]|51°
IV [60°]|35°|59°

The incorrect observation is at serial No.

@ @ (b) (I (c) (1) (d) (V)

29. Inthe experiment on tracing the path of a ray of light through a glass slab, four students
A, B, Cand D used the following values of angle of incidence and the distance between
the two pins (fixed on the line representing the incident ray).

(A) (30° 45° 60°) and 2 cm (B) (30° 45° 60°) and 8 cm
(C) (20°, 50°, 70°) and 2 cm (D) (20°, 50°, 70°) and 8 cm
Out of these the best choice is that of the student
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30.

31.

32.

33.

34.

35.

A teacher gives a convex lens and a concave mirror of focal length about 12 cm each to
her student and asks her to find their focal length by obtaining the image of a distant
object. The student uses a distant tower as the object and obtains its sharp image one
by one on a white screen. The distances 1, and 1, between the lens/mirror and the
screen in the two cases and the nature of their respective images are likely to be

(@) (12 cm, 12 cm) and (erect, erect)
(b)

(
() (12 cm, 24 cm) and inverted, inverted)
(

(d)

12 cm, 24 cm) and (erect, erect)
12 cm, 12 cm) and (inverted, inverted)

A student obtains a blurred image of an illuminated distant tower on a screen by using
a convex lens. In order to obtain sharp image of the tower on the screen, he must shift
the lens

(a) towards the screen

(b) away from the screen

(c) to a position very far away from the screen

(d) either towards or away from the screen depending upon the position of the tower

Which one of the following sketches does not illustrate budding in yeast ?

(iv)
@ @ (b) (1) (c) (1) (d) (V)

To determine the percentage of water absorbed by the raisins before final measurement
of mass of the raisins after being kept dipping in water for about two hours extra water
from the soaked raisins should be removed by

(a) gently using dry cotton
(b) gently using filter paper
(c) silken cloth

(d) hot air blower

To show that iron is more reactive than copper, the correct procedure is
(a) add dilute nitric acid to both

(b)  heat both copper and iron strips and observe

(c) prepare iron sulphate solution and dip copper strip in it.

(d) prepare copper sulphate solution and dip iron strip in it.

For determining the focal length of a concave mirror by obtaining sharp and distinct
image of a distant object, out of the following options a student should prefer as object

(a) a burning candle kept at the distant edge of the laboratory table
(b)  well lit grill of the laboratory window

(c) awell lit distant budding

(d) a distant tree
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36. In order to adjust the compound microscope for observing budding in yeast on a slide
the following steps are required. These steps are not in correct sequence.

() Focus using low power

(I) Place the slide on the stage and fix it using the pins

(III)  Adjust to high power

(IV) Adjust the mirror and diaphragm so that there is even illumination
The correct order of these steps is

(a) (V) (11}, (1), (ID) (b) (V) (11), (1II), (D)

(© (, @v), @m, [ () (@), (I, 1), (O

37. Reena was given two permanent slides, one of binary fission in amoeba and the other
of budding in yeast. She was asked to identify a difference in the nucleus of the two
processes. She identified correctly the presence of

(a

) one nucleus in amoeba, two in yeast and one in bud.
b) two nuclei in centrally constructed amoeba, one in yeast cell and one in the bud.

—_

c) two distinct nuclei in amoeba, one in yeast cell and two in bud.

(d) single nucleus each in amoeba and yeast cell, and none in its attached bud.

38. Some crystals of copper sulphate were dissolved in cold water. The colour of the solution
obtained would be

(a) Pale green (b)  Yellow (c) Dark green (d) Blue

39. Onadding acetic acid to a solid ‘X’ kept in a test tube a student observed that a colourless
and odourless gas “Y” evolves which turns lime water milky. On the basis of this
information what conclusion would you draw ?

(a

) Solid ‘X" is sodium hydroxide and the gas Y is carbon dioxide(CO,)
b)  Solid ‘X’ is sodium hydrogen carbonate and the gas Y is hydrogen

—~~

c) Solid ‘X" is sodium carbonate and the gas Y is carbon dioxide(CQO,)

(d) Solid X" is sodium hydrogen carbonate and the gas Y is carbon mono oxide

40. A student takes Cu, Al, Fe and Zn metals separately in four test tubes labelled A, B, C
and D respectively. On adding 5 mL of freshly prepared aqueous solution of FeSO, to
each test tube he observes the colour of the metal residue in each case. He would find
a black residue in the test tubes

(a) AandB (b) BandC (c) Band D (d Cand D
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41. The following data was obtained on performing an experiment for determining the
percentage of water absorbed by raisins -

Mass of water in the beaker =50 g
Mass of dry Raisins =20g
Mass of Raisins after soaking in water =30g

Mass of water left in the beaker after the experiment =40 g
The percentage of water absorbed by raisins will be -

() (50-40) g 5_040) & % 100 (b) (50-40) 8 109
8 40g
©) (303—0& x 100 (d) (30 -20) g x 100
8 208
-00o0-
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HAT-A

Trafafea T gry vefva ifufswan & 9hR &1 9™ JqEu |
CH,CH,OH + CH;COOH  Bffis0s  CH;COOCH,CH; + H,O

9 T gohr foror et fies & SRt TRt € f 39 fa=e sior g9 & o we faeon
3G AR |

SIS T 1 37981 Form= o hreor o1 § 2
U 92 ) U S FH HH H g9 F ANEH H Gehd © 2 hIE  alieh SRy |
(31) TTHTY] AT S Acall o SRT0T Bl SR AT TN | -1 2

() 3Tad EROT H 39k TIF o AR W 399 9 frg 90 ¥ o9 gow Afyes enferss
rfiTereror oY SR A € |

Na, Mg, Al
TSI IO 1 Teh | = <90 T @
a7 I 11 XVI XVII XVIII
AEd 1
2 B D C

3 E
IR TR o SR W FeAfafad ged & s i
(i) hM | T IR T ?
(i) TR T HT AV SAHR T BT 2T |
(iii) e T o TEEMS O HREE (RA] §@=12) % GHH e |
(iv) 38 3 & 9me AW fafee S8 C 99 E 9wy wEd 2

el | Sl o 31T T Ufeha foRT YR Bt 82 T § o it |
ifiTeR qen STifiTe S H Sifa Sevd fohd YRR 21 €2 Y & fan uw e fafeu

ot 1 1ot SR gfeaert H g hifSre R a9 et wfafers &t gepfa fafee-

[
| 1\/ ), 2
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

frefafad gfie Sl & 91 wRor € iR S AR fFa yehr fohan < dehar €2
(1) wifqafeg (9) SH-gLgftedl

—25D 3R +1.5 D &T9d1 & &1 Wi bl Trueh § T T S| A6 o 59 HASH i & A &19al
T SRITSTT I SH HASH i BIRH G I TUMT SHITST |

STrared $ei ot st g8 AT ol el W RS YhR g9 S ¥ 2 39 GHET h HH
% HIE T U I |

I STl w1 T foh Wb (i) WTISIeh (ii) TATeRTE THEATT Seqe hdl € 2 ek fefa § 9
FEETT e |

(31) TrAfafea Fifen § F o o o Afafma san-
C,H,, C3Hy, C;H,, C,H,, and CH,
(9) TIZSISHIHO 1 ¥ 2 36! STEifieh SYam s[Ey |

(31) 39 T 1 M FaRy, f9g 19 Gifedq & TF & TaEfe Afafwan o & erdan
H T AU IR F UL H HIE HROT Ay |

(&) 39 I I AR ek fo=amg fafau S STrerd WOl & drEY 3Trerd qem 139 o § ST &
STHM TET fof I e ®1q © A1 3718Tg | hRoT off SaEu |

(31) HME % HIST 54 dF 1 Wos fos st 3R 39 W Arifehd ity :
(i) % 9 S ULV S AT T |
(i) T W ST WRTOT B |

(F) 1 Bl § A STueafeant To%g o Skt 7

Frfafea gedi & s® o -

(21) Sty ot stfeen Tt H Sifad @A % A e oEn 2
(&) yfadl T ELUA.T, 6 Tenfae S gifea g g1
(§) IUISIq T SATARIR AN H 9 FhifoTg |

(i) ST foeem T €2
(i) T g STt S 9 3o Siel B 9 ford gehR o Sfidl | etfues fafiand 2t ?
3T W i gfie wT |

(37) A A T T & A e & WY 1 & 924 fFA 1 9% P < HRO TARET
() T Sia qn THTEt Sia o 37 R |

086/X/SA2/29/ A1 10



20.

21.

22.

23.

24.

25.

T 2.0 A, T o Y, 10 V.. HHT T4 A ITA 1 ok T 3181 o T W T R
fofer @ o 1 g0 15 Q. $1 wfifeia @ vk, Fefd e STR 9 HIRT)

Th 3T 01 F Teh T ol ATEdiaeh qefl 3¢l Hidfae, 369 30 .. & g8 WA g1 afg
yfcfesl, fofe o SRR 1 1 & A HIHel 1 oG 3 FHH el W@ TS ? 310 I gHeF
T U fortor @ ST 39 i 1 &Hal o 1 it |

rifeRa o ot TR ¥ frefafed w1 smems
() I & g9 gd WA9-Ydrd B R
(i) 2rIe % T G Yo Ul B 2 |

Frefefed i o 3 ST
(31) T iR TS o H TR ot o fore forelt Tamafeh wliegor &1 9o it |
(&) frfafad & fog R FaEs -

() TIHrA 1 STAN E=R SREH a9 H fohan S 7

(i) TIZH TR HI SHANT AR % IRET01 § foam e 1
(F) G0 o1 § 2

AT
(31) WIIgeh 3 (C,H;COOH) 31 shi HT=AT I ehifere |
() G IH 91l Sl o qel et i e 9 € 2
(W) foda e ?? uw foda %1 Tmifea fo s |
(T) e i GAAHET Yhfa o foIu STRemET 1E < HROT SET |

(31) Tk Yo & IS < oY JaeT | o Uil % Y saRt {59 98 fee S R
(9) RS HH S HIa1 &2 AHiferd Fot i Tl § Herq § THest |

3reran
(31) HHa R 49 93 § fr=fafad s & o o1 Seoig shifeg |
@H gum (i) ORI
(iti)  RaTEAT (iv) g ufe

() 0T ISR & SR | e B € 2 R0l ey |

(37) IS ST LTI FAISY S ARfereh qe STE Sfafse § 9 & T |

(9) Tk U GRI Scdsl SMAEH +1 ]| I8 91 S0l & 2

(T) Ifyder foeems 1 82 1 R 9y, i | 72 AR wa €1

Jroqar

(31) WehTYT aTg W 2.42 T o EIX B JoIeT il § | & H JehTeT bt <1et A Bt | a1
T YehTST i =1 3 x 108 Hiey/Afdhe 71

(a) Tr=Afafted gdon i fegfa § snure gfdfsisi & 59 @l g9 o foe fHor s SR |
(i) oTFdA W (i) TA YW

(F) IR IS o U HH B fadel U fohd YRR Gl il § 2
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26.

27.

28.

29.

HAT-o

frefafea fosi § odien o fgmue i 7Tod 9 & <9 T R

T HAT
() (i) (iid) (iv) (ii) (@) (i) (iii) (iv) (i)
(AN (iv) (iii) (i) (i) (=) (i) (iv) (ii) (i)

TIHIES 3T 1 WifeaH TESeH HeHe & faaed H faamn o iR Scst 19 1 Serdt g8
dreft | qlteror foran | F=fafEaa =m e gwqa o T -

(i) T °fg el % T STt § IR Seren o St §

(i) 9 T STt T <ielt 9 et o | ST §

(ifi) ST g A § SR 9 Tl e |

(iv) T et Soren % WY Serdt § iR el deit  Serdt ¥

T T Y ¥

(®) (i) (@) (i) (D) (iii) () (iv)

T B A id & TAd T BT TR dTelt T fRor o1 At g9 aret =T & SR 9870 &
fr=fafea 32 < /A

S.No.| i | Or | Oe
I 30°119°|30°
II |40°|26°|40°
III |50°(37°|51°
IV [60°|35°|59°

TAd Y01 Y ShH T&AT © ¢
) (1) @) (1) (M () () 1)

e o el W B TR dTel! JehreT fohtor & Ant =l <9ifd 99 9 § =R S61 &, @, T, 9
J ST o 91 §1 o o S i gl (SAafaa fRver i femm et v W feed) &
frefafea ot 1 wam fwen .

() (30°, 45°, 60°) A& 2 HHL. (@) (30° 45° 60°) 91 8 H.H.
() (20°, 50°, 70°) d&m 2 WHL  (®) (20°, 50°, 70°) 9«1 8 H.HL.
TTH O T 311 99 A el BT T
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30. U LA TU ST I Teh IAA o1 qAT Teh SAqet YU Yceh ht T 12 J.H. HRishd
T a1t Tt § SR Tk g foia o1 wfafsia SRt Su9 Skt Rl g0 10 i o forg st
T o foa % €9 H UH G AR H ITAN FIA ¢ 3R TH-Th Hh U8 T IHH T
icifeisl e et & 1 ST Rearferil # ofe 2 g qen ae % oft=r et gl 1, e 1, iR 37k wfafsis
! YR HHST: B =1eT
(%) 12 9.Ht, 12 A AR e, dien
(@) 12 QA 24 A, R e, dren
(1) 12 |, 24 B AR I, ST

() 12 9., 12 F.H. AR 3=, 3

31. T ST Tk YeHITI I 2TeR 1 3T 16 1 FART Hleh T W el fafsa ura s 81 o
W R I T Yfdfes W w6 T 59 oW i fewemr =fe

(%) Us & WH

(@) AR

() U< 9 9gd X i feorfq #

() 2R ot feufd & STTaR o1 df 9 i 1 A1 IR e 9

32. fr=Afafed & 4 & o1 fot 4w o g o1 yef¥id =i &

&g &
(i (i) (iv)

F) () @) () Gm @ () (V)

33. feoruifier g0 STerifyd STel ot Yferal J1d i o foTq i< 91 1 Irg@ich o § T8e] a1+l
2 ¥ qh 5l H ofivit g8 forwifier =1 erfafiam st gerd €
(F) TIfeE | Gl 8 1 T4 i |
(@) 3TfeE | 1 95 I FAN i |
() W w9 gN|
(%) T B FR |

34. % femm & fou for @ qid @ siferer forameia @, ot fafu &
() <M H 7 "MEfew ot S )
(@) e TR e I Rl g R T w § o e wa §
() M Tethe faera™ o € SR dd i vgt 398 gamd 2 |
() IR Fethe faea 9110 8 3R @R ot 981 399 gad ¢ |
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35.

36.

37.

38.

39.

Teh Sferdel UUT ! hishd g J1d i o ol Ueh GUee a%q ol 1% T8 w0 gfdfaa g shd
I U B o Frefafed fasedl § 9 fordent foa o &9 H mrefiena ot =mfeq |

() T HT o &Y feohmi W @il STefdt g8 Teh HiHoril
(@) AR % fagsh! =i foad g8 Sl |

(M R oo Tk wem

(9) Teh g J&

Th WIES W AR § Jpar o1 FRIG0 3 & FH § g GEaaell ol GHEISa i 994
Frefafad =Roi i STaeerhal Bt & | 3 =01 |l 39 § T & |

(I) Y &A1 % HIHH Sl TART HE |

(II) ¥9 W MES H TR 340 T g’y fee) 63|

(1) 3= &A1 ! GHEISA HET |

(IV) U qefT ST k1 GHTITST AT difeh S&l oM el & |
T fafie =Rl 1 S A T

() (IV), (1), (1), (IT) (@) (IV), (I, (1), (I)
(M ), AV), (1), (1) () (IV), (1), (I1), ()

1 1 QU TS T oTHte § fg WUed i qon o 9 § goper &1 & T SHY 39 qM
FishaEAl o shgehl | ST e o foIT el 11 6 HEl Suftefd i qe= |

(%) orften § U Fege, A H A 9o qF H TH |

(@) &= § Ggfad eTften § § e, A Hifew § T 901 goped | off TH |
(M) oTHren H T TR hegeh, A HIfTR H UH 3R gFp | |

(9) orien qen e Yol § T e 3R S0 SO ghd | g 6 |

FHIR Tehe o F @1l 38 9 § =t 7411 fae=m 1 31 9y 2
() dienm & (@) den () TR (=) ren

T B A et e fof Tt amet § W@ Tt 3 X § uHifes o SieH W T TRiA
T TR T Y Froherdt ® S 97 % 9 ol gfER R St €1 59 SRR o STER W ST R
freapdd frepTera 2

(%) 3™ X HifeaH TGRS ¢ AR Y CO, ¥

(@) 3\ X Hifean gEee wEHe € 3R 19 Y- 2EeeH B |

(M) I X HifeTm FEME § SR Y CO, 71

(F) 3\ X Hifead TESA HEHe § 3R 19 Y- FEd HHEEES 7
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40. TH B IR REATAA! | STT-3Te =R #1q Cu, Al, Fe TN Zn ol 3R 3% AW A, B, C
T D THifehd 1 81 T qe@ert | 5 fiel. a1 a1 g8t FeSO,, #1 et T faam
R I Tk feurfa # 41g s1asie o 31 o FRIET0 a1 €1 39 e T h1 ST wEHadl o
et -

(%) AN BH (@) BaaCH (7 BIADH (F) caaDH

41. Tl gR1 STeRNfYa STl sl Sfamrad A1d s ol S=RT &l shid 994 Fefafed sties ara
B4 :
SRt T STel 1 FeAHA = 50 T
q@ fwaft &1 gezmm= 20 I
STl H geliA o 9 feRwifaer st gerH =30 Tm™
AN o 1% SR H o< ST 1 SeAH M = 40 U™

feraTfiren g0 STerift et <kt Sfcrerdar g - -
() (50 = 40) T 49 (@) (50— 40) I 4
50 W= 40 M
(30 — 20) 7™ (30 — 20) 7™
(M oo <100 () o < 100
-00o0-

086/X/SA2/29/ A1 15



